Based on direct measurement of spatial resolution for
screen-film radiography and CT image, which of the
following statement is true?

Screen-film radiography ( 7 Ip/mm) > CT (1 Ip/mm)
Screen-film radiography ( 1 Ip/mm) < CT (7 Ip/mm)
Screen-film radiography ( 7 Ip/mm) = CT (7 Ip/mm)
Screen-film radiography ( 1 Ip/mm) = CT (1 Ip/mm)

Which of the following is not a standard view in pelvic
angiography?

AP

Lateral

RPO
Craniocaudal

For the average patient, the central ray for a lateral
projection of a barium-filled stomach should enter:

-

I

midway between the midcoronal line and the

anterior abdominal surface.
~

midway between the vertebral column and the

lateral border of the abdomen.
~

at the midcoronal line at the level of the iliac crest.
perpendicular to the level of L



